CIELABN2-Normhelligkeit I*
|* Ync_YW nc— =100,

I* GiELABN2 =109 (Y/Yp) 259 (Y2100, Y,o/1002Y<=Y, o)
I* (3,6)=20,1* ,(18)=46,1* y(90)=96

* 0=95,52,y=2,5, 14=1/2,5=0,40
* 16=46,18 §=108,42 D,=-8,42
I*36=20,19[,=46,18 Y=18

log[I*/I* J=0, m,=0,47

CIELABN2
Normfarbwertdifferenz
Yac=Yw - nc=100,

I* GiELABN2 =109 (YY) 259 (Y2100, Y,o/1002Y<=Y, o)
log(dY) = (1/2,5) 10g[2,5(,/108)] + [1-(1/2,5)] logY)

dvgo_lz 02y=", '11/—1/2 5=0,
dv;, 4'=108,42 D,=-8,4
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dYae, ,3 Y2100 dy=4, 57
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1 Yw=90

Yn=3.6

log AY/Y)
S=(AY/Y)
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Yoc=Yw - nc=100,
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log (Y/AY)
C,=(Y/AY)

CIELABN2
Normfarbwertkontrast

Yac=Yw - nc=100,

I* CiELABN2 =109 (Y/Yp) 259 (Y7100, Y,d/100<Y<=Y, o)
log(Y/dY)= - log[2,5(/,,/108)] + (1/2,5) log{/Y,,)

= - (1/2,5) log[2,5¢,/108)] + (1/2,5) logY{)
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CIELABN2 relative Normhelligkeit I*/I*
Yoc=Yw

=100,

I GiELABn2 =109 (YY) 2-9  (Y;=100,Y,/1002Y<=Y,c)
1 (3,6)=20,1* ,(18)=46 I* 1y (90)=96

I* ofl* =2,06,y=2,5, 14=1/2,5=0,40
I* 1g/* =1,00 108,42 D,=-8,42
I*3 g% =0,43,1,=46,18 =18

log[I* /I* u]:o m,=0,47
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bereich

Yn=3.6  Yyw=90

log (A YIAY,)
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CIELABN?2 relative
Normfarbwertdifferenz
Yoe=Yw - nc=100,

I GiELABn2 =109 (YY) 2-9  (Y;=100,Y,/100<Y<=Y,0)
log(dY/dY,) = [1~(1/2,5)] log{/Y,)
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CIELABN2 relative
Normfarbwertempfindlichkeit
Yoc=Yw - nc=100,

I GiELABn2 =109 (YY) 259 (Y;=100,Y,o/1002Y<=Y,0)
logl(dY)/([AYY),] = - (1/2,5) logiIY,)
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log [(Y/AY) I (YIAY),] CIELABN2 relativer
Normfarbwertkontrast

Gl =(YIAV)/(YIAY), oty oo

* GiELABn2 =109 (Y/Yp)2:5-9 (Ynzloonnc/lOO«<:Ync)
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